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e =0 - Kpyr,

e <1 - nimric,

e =1 - napabona,
e > 1 - runepOoia.
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A 0) Cmm v ey, xtane 180-1,

o = cos(xm) = cos 2 cosu —sin L sin i cos 7,

B = cos(ym) = sin 2 cosi, — cos C2sin 1 €os [, (2.30)

v = cos(zm) = sinu sin .
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x = ra = rcos(xm) = r(cos Q cosu — sin Qsinu cos

y=rB=rcos(ym)= r(sichosu —coslsinu cosz'),

z=ry =rcos(zm)=rsinu siln l.
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P = cosC2cos o —sin2sin o cosi,
P = sin €2 cos @ + cos 281N @ cos i,

P =sinwsini,

Q. =—cosQsin® — sin 2 cos wCcos,
Q, =—sInQsin @ + cos Q2C0S @ COS

Q, = coswsini.
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R, = -cos Qsini,
R, = cosi.

x\ (F o,
yI={E|$+|Q |'n
z) \F, Q.

(2.34)

(2.35)

(2.36)



